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General Awareness /mnﬁhﬁﬁﬂ (™ ATIIdA3T)

Alluvial plains formed by Ghaggar river in
south-east of Punjab are known as

(A) Bet
(B) Khadar
(C) Nally
(D) Kandi

Soda water contains which of the
following gases?

(A)  Carbon Dioxide

(B) Hydrogen

(C) Nitrogen

(D)  Ammonia

The government’s ‘Padhna Likhna
Abhiyan’ aims to achieve which of the

following?

A)  Full Employment

(

(B)  Basic Literacy

(C)  Higher Education
(D)  Technical Education

Who was the Mahant of Gurudwara Guru
Ka Bagh before it was obtained by Akali
dal in the year 19227

A)  Mahant Sundar Das

(

(B) Mahant Narayan Das
(C) Bhai Laxman Singh
(D) Ripudaman Singh

Which Sikh Guru created the Khalsa in
16997

(A)  Guru Nanak Dev

(B) Guru Amardas

(C)  Guru Gobind Singh

(D)  Guru Har Rai

g © THS-Ygy <9 WdTd Tt emtar
g2 IE A% HER G =G
A qiwr )

(A) dc

(B) dd

C) st

(D) d3t

31 Ted 9 Is it fed faadt am
J&t 7

(A) g8 SEAIATES

(B) TEEdAa

(C) &rEHs

(D) &M

HISTd & YIS fSHST mifgnirs’ &1 dtar
foat fed fam @ Yus 3a1 97

(A)  Yds Iudid

(B) HESIAYIS

(C) Budt fHftmr

(D)  3datdt fHftm

1922 {39 W&} €% T Yu3 i3 71
3 Ufgst IgenaT Iig 1 T 1 T HI3 A
HI?

(A)  HJI3 Hed TH

(B) WHJI3&IfeE TH

(C) gt BHEHT fHY

(D) fayeHsa fRw

(A)  HIgaed e Hl
(B)  HIrg mHITH HI
(C) wHggdfde fRu
(D)  #Hgrg Ifgare =t




10.

Where is the Gurudwara Dukh Nivaran
Sahib located?
(A)  Amritsar

(B) Bhatinda
(C) Patiala
(D)  Chandigarh

Which is a Sikh festival held to
commemorate Sri Guru Nanak Dev Ji’s
birth?

(A) Teeyan

(B) Diwali

(C)  Guruparab

(D) Rakshabandhan

Which among the following is NOT a type
of Jhumar Dance?

(A)  Sutlej Jhumar

(B) Beas Jhumar

(C) Malwan Jhumar

(D)  Multani Jhumar

Which among the following is built in
computers to connect it to a wired
network?

(A)  Ethernet Port

(B) Parallel Port

(C)  VGA Monitor Port
(D) PS/2 Ports

What is a code generally hidden in games
or spreadsheets and causes harm to the
data?

(A) Disk Cleaner

(B) Boot Sector Virus
(C) Worm

(D)  Trojan Horse

JIgedT Ty faergs Arfgs f98 Afgs 92

(A)  wifzHg

(B) €&z

(C) ufenrgr

(D) d3tag

frdt w1 fqgz (38ud i g s & Te it ©
AoHEs © U 9 HetfemT e I

(A) S

(B) et

(C)  dIdydd

(D) JIHEUS

J&t fafznt &9 faaz ya v ¥ yarg
ERIkH

(A)  HA3IBHAIHI

(B) foM™HIHT

(C) HIBITZHT

(D) HBI&IgHd

foeast &9 fagzr dfuBeg <o fom &
33-Ta3 $<dd 318 HIs Bel gIem
fapm 97

(A)  dagde Ude

(B) UIBZ Ude

(C) VGAHaltedUde

(D) PS/2UdeH

It 7t At fdg w39 3 fagzr a3
Bieps Je1 J, 7312 § GaAE UgaTRr 92
(A) f37a J8Isg

(B) gc Hd<d <ifean

(C) <ZaH

(D) A& JIA




11.

12.

13.

14.

15.

Which among the following is a warrior
sect of Sikhism?

(A) Udasi

(B) Nihang
(C) Namdhari
(D) Nirmala

Which disease among the following does
not have a vaccine?

(A)  Chickenpox
(B) Hepatitis A
(C) Hepatitis B
(D) HIV

In right-hand thumb rule, thumb point
towards

(A)  The direction of magnetic field
(B)  The direction of magnetic force
(C)  The direction of electron

(D)  The direction of current

If you want to store charge, which of the
following device you will use?

(A)  Ammeter
(B) Resistor
(C) Capacitor
(D) Transistor

At which part of the eye is the image of
an object formed?

(A) Sclera
(B)  Pupil
(C) Retina
(D) Iris

Jot izt i fagzr ity uan © g
uy faggar J?

(A) Gum

(B) f&ddr

(C) aurdt

(D) f&gH®T

J& f&fimit S fagdt fanrdt w dan Hige
&I I?

(A) TO«

(B) JUTEICH A

(C) JUeTEteA B

(D) HIV

Hil 78 & »igd ¢ fawH feg, g
<5 forgr qger |

(A)  Jgdtezg < fam
(B) g g% < fomr

(C) fedads <t fem

(D) ade <t fem

Hold 3H 91dr Hd Jd&T 91de d, 31 318
foat fed famet <93 99! Irdiet 92

(A)  nhpiteg

(B) dffcd

(C) UAd

(D) <ifArAcd

WY & fqg3 991 §3 fan <Az w1 y3ifdy
T J?

(A)  HIBJ (Sclera)

(B) Y38t (Pupil)

(C) It (Retina)

(D)  »fEgH (Iris)




In which year was the Sikh political party, iy I3 Ugd! HHI »a& €% <

Shiromani Akali Dal found? HEUST faA A'S Jgl A
(A) 1900 (A) 1900
(B) 1910 (B) 1910
(C) 1920 (C) 1920
(D) 1930 (D) 1930

Which among the following was not a part  fgat fed fqaz ufentst w3 dire yarg
of Patiala and East Punjab States Union?  m2aq gats @ fJAr &adi At?

(A) Patiala (A)  Ufoqrs
(B)  Faridkot (B) edlae
(C)  Malerkotla (C) HBIITHT
(D)  Pathankot (D)  YE&EAL

When was the province of "East Punjab"  ydJet Yare' yiz @1 & ddrg g it

renamed as the state of "Punjab"? fam 72

(A) 1950 (A) 1950

(B) 1956 (B) 1956

(C) 1966 (C) 1966

(D) 1971 (D) 1971

Captain Amarinder Singh was W»D{ﬁeafﬁwémﬁwém

commissioned in which regiment of the Irie &g faga3 T fami Ate
Indian Army?

(A)  Gorkha Rifles (A)  Jigu JElesd

(B)  Bihar Regiment (B) fagrg Idtic

(C) Sikh Regiment (C) fify v

(D)  Madras Regiment (D)  HEJ™H Irhie

In which district Roshni Da mela Urrg &9, ING! T HST I 7S faal s
organised every year in Punjab? g BafeT

(A)  Amritsar (A) 39

(B)  Ludhiana (B) Bt

(C)  Jalandhar (C) #&ud

(D) Bathinda (D) =ié3




21.

22.

23.

24.

25.

What is another name of Qila Raipur
Sports Festival?

A)  Rural Commonwealth
B)
C) Rural Championship
D)  Rural Wimbledon

(
( Rural Olympics
(
(

Where is Shamsher Khan's tomb located
in Punjab?

A)  Gurdaspur

(

(B) Jalandhar
(C) Amritsar
(D)  Phillaur

In a fibre optic cable signal travels in the
form of:

(A)  Electricity
(B) Magnetism
(C) Sound
(D)  Light

Which state borders Punjab on the
South?

(A) Haryana

(B)  Delhi

(C) Himachal Pradesh
(D) Madhya Pradesh

Which city of Punjab is famously known
as City Beautiful?

(A)  Amritsar

(B) Ludhiana

(C) Pathankot

(D)  Chandigarh

fa®T IEYI AUTCH SHARS T g1 a™H off

P

(A)  JIB THELBE
(B) ddI% Gafudn

(C) JI% Tubafiny

(D) gIsfiCas3s

Uy fSg AHRd U's @ Hagd fog Afg3 92

(A)  JId€THYd

(B) #&Ud

(C) ifH3Hg

(D) fe=&g

Tetggd wiufed 9% feg fAIeS
T gu g uher J)

(A faast

(B) gga3

C) st

(D)  Yyam

Uy 2 Ty g faaz aa Afas 2

(A)  Ifgorrer

(B) fogt

(C) foHHS YyeH

(D) Huydw

Udrg ¥ f9a3r Afgd fAct fa8dies (City
Beautiful) ® &™H &T8 AT AT J72
(A nfH3Hg

(B) Bt

(C) UsTKI<

(D) d3lag




26.  Which of the following schedules of the  3ITJ3 ® HieUs T fqag! »aHd! feg 22
Constitution of India recognises 22 IS & MUATI3 I < G Y3
languages as official languages? 39
(A)  Sixth schedule (A) s wgHd!

(B)  Seventh schedule (B) H3< wgHdt
(C)  Eighth schedule (C) s nigHd
(D)  Ninth schedule (D) A »ianet

27.  Who among the following addresses the  fogt fed of& wnd 9 3 gmie © Ufa®
House of the People at the first session AAS 3 9 AS © U ARG © g3
after each general election and at the ™ 9 AT & T3 I 9 o
commencement of the first session of - '
each year?

(A)  The President of India (A)  ITd3 T IHIIUS
(B)  The Speaker of Lok Sabha (B) I AI T AUlad
(C)  The Prime minister of India (C) IF3TYUA H3dl
(D)  The Chairman of Rajya Sabha (D) g A T IHIHS

28.  Delhi has all the legislative powers of a fegt 35 f¥q ga Toff Ardnt feuraa
state, EXCEPT: Wa—a fﬂe'rg |
(A)  Police and land A yfsanz i
(B)  Education and health (B)  fHfpw »i3 fHI3
(C)  Sanitation and construction (C) WgEt w3 GAdt
(D) Local bodies and rural areas (D) HEAd HAER »3 I[HIE ¥3d

29.  Which article of the Constitution of India 3733 = HAfeu's < faadt Wiga< ITHIUS!
authorises the President to seek the & HYIH dde €t I8 B B wiftara3
opinion of the Supreme Court? Ey(Elaﬁﬁ?

(A)  Article 134 (A)  MEex 134
(B)  Article 139 (B) ias< 139
(C) Article 143 (C) M&ex 143
(D) Article 148 (D)  M&ex 148
8 AA



30.

31.

32.

33.

Which provision of the Constitution of
India provides immunity from ‘self -
incrimination’ (witness against himself)?

(A)  Article 19
(B)  Article 20
(C)  Article 21
(D)  Article 22

What proportion do the elected members
of the district level Panchayat have in the
District Planning Committee?

(A)  Half of the strength

(B)  One-third of the total strength
(C)  Two-thirds of the total strength
(D)  Four-fifths of the total strength

Panchayati Raj Institutions and urban
local bodies led towards a system called:

(A)  Democratic pluralism

(B) Democratic monism

(C) Democratic centralisation
(D) Democratic decentralisation

Which of the following provisions of the
Indian Constitution has been taken from
the Weimar Constitution of Germany?

(A)  Directive Principles of State Policy

(B) Federalism

(C) Emergency and its effects on the
Fundamental Rights

(D)  Concurrent List

I193 © Afeus o fqgz feus Hean
BTG (self -incrimination)’ (HUE feda
gIeTg) 3 B3393T fear J?

(A)  MEex 19

(B) &< 20

(C) nge¥ 21

D)  WEex 22

g Brs andt &g frgT Yudt darfes @
TS IR NI T U3 St J?

(A)  IBHRmTT T

(B) & Hitp w1 feg-f3aret
(C) o AT -f3ared
(D) & Hitpr T grg-Jnet

Tiaret & g yaTEt § »idl <ufent J, fAn
d_ fggdARdl

(A)  FI33A A
(B) BII3dt wie3Tw
(C) BI33dt dedlads

(D) BaI3dt fedediags

133t Hieurs © Iat fif it i fam feurs
& AaHa! © HJ Hieus fed fanr fam 32

(A) T UTSH T fegermsHd fAgi3
(B) Huew

(C)  WHIH w3 Hisga wifgarat 3 fore
ygre

(D) AHSIS HE




34.  Article 22 of Indian constitution related to  ¥f&d »ifterdt w18 HEU3 3733t Hfeurs <
Fundamental Rights, provides the citizens nigge 22 &dIlda & _ Y&'a FI<l JI
with
(A)  abolition of titles (A)  wgfenfi Ty
(B)  protection against arrest and (B) g9 Afg3tmi feg fa@3rdt w3

detention in certain cases Sd99d1 fedu At
(C)  equality before law (C) 4% € aud fSg AHTE3
(D)  freedom to choose their occupation (D) WY f31 g&& T wraret

35.  Who among the following appears on Jot fefamit fed I Irgt Hfeus <t wigee
behalf of the Government of India in any 143 ® WEATY BUIH JAd< Bt IHTIUS
reference made by the President to the ¥ f9R < Hegd fE9 9793 Adad <& J1fdd
Supreme Court as per Article 143 of the g"ET J?

Constitution of India?
(A)  Vice President (A)  Buameaud
(B)  Prime Minister (B) yurs H3dt
(C) Attorney General (C)  MIIA AAIS
(D)  Home Minister (D) g ¥zt
Quantitative Aptitude and Numerical Skills / HTSISHI W8T M3 AYHTSHS Tad

36. Acandiga holein40daysandBcando Affqy3 Q40 fesi g ST AaTr I3 B
it in 60 days. Along with C, they did the ffAd 60 foni fSg qd AT JI C R &S
job in 12 days only. In how many days @?g‘r%fﬂaamf%iﬁgsﬁﬁaafmmc
can C alone dig two such holes? 1%3?"871%?3 Wﬁa»ﬁﬁ@ﬁsﬂ%’m@

J?
(A) 24 days (A)  24fes
(B) 48 days (B) 48fes
(C) 10 days (C) 10fes
(D) 8 days (D) g8fea
37. 120 women earn % 2000 in 5 days, how  # 20 »id3T 5 faat feg 3 2000 IHET

much will 30 women earn in 8 days?

(A) %6000
(B) %2200
(C) %4800
(D) %4000

I&, 330 »ig3t 8 faat fieg fdat FHTE
II&IMI?

(A) %6000
(B) %2200
(C) %4800
(D) 4000

10




38.

39.

40.

41.

Find the average of following numbers:

245,452,729, 927, 121, 208

(A) 474
(B) 744
(C) 447
(D) 454

Simplify the following.
(1.2)3 — (0.8)?

(A)  10.88
(B) 1.88
(C) 1.088
(D) 18.8

Simplify the following.

7 6f 1092 of > of —
13 8 21

(A) 34
(B) 42
(Cc) 1z
45
(D) 14
29

If 0.42a = 0.00224b, then find b-a .
b+a

(A) 378
377
(B) 19
13
(C) 377
373
(D) 13
19

foHafsfy3 Aftpdret T »iA3 U3 3|
245,452, 729. 927, 121, 208

(A) 474
(B) 744
(C) 447
(D) 454
R CERREE]
(1.2)% — (0.8)2
(A)  10.88
(B) 1.88
(C) 1.088
(D) 18.8
J&t fd3 § I8 94|
2 miarp92w
21 8 13
A) 34
(B) 42
(C) 12
45
(D) 14
29

.b—
T9d 0.42a = 0.00224b I, 3t ﬁ US|

(A) 378
377
B) 19
13
(C) 377
373
(D) 13
19

11



42.

43.

44,

The average temperature of the first four
days of a week is 37 °C and the next 2
days is 39 °C. If the average temperature
of the week is 38 °C, then the temperature

of the last day is:

(A)  40°F
(B) 40°C
(C) 37°
(D) 41°C

If the given number is expressed

96 X 400
in simplest form and the denominator is
expressed in the form of 2™ x 5™, then

what is the value of ‘n’?

(A) 1
(B) 12
€ 9
(D) 8

If x = 0.00458 and y = 0.00542, then

what is the value of x% + y? + 2xy?

A) 1
(B) 0.0
(C)  0.001
(D)  0.0001

ffq I3 T UlgR 919 fea! T WAz 3N
37 °C J W3 M1 2 fesi 2139 °c J| Add
Jg3 T A3 3UNTE 38 °C J, 3T i3 e
T IS T &1 J?

(A)  40°F
(B) 40°C
(C) 37°C
(D) 41°C
A o) arel Hftonr ——— & A3 Inis

U YB3 AT d M3 798

2" x 5™, B g g Yyeafis i3 A 4,
3t TS A 2

(A) 1
B) 12
€ 9
(D) 8

A x = 0.00458 M3 y = 0.00542 J,

2 + y2 + 2xy THB A D

A) 1
(B) 0.01
(C)  0.001
(D)  0.0001

12



45.

46.

47.

A school conducts periodical exams
every second month. Maximum total
marks in each periodical exam are 500.
The aggregate marks obtained by one
student in each periodical exam in a
particular academic year are represented
in the line-graph given below.

ffa AgS I3 o Hdld Hdtd<a Yiftmret
IS8T J| II HAtdeTg Uit f&g B3
W 500 I& | 8 UTH wiaefHa 7S feg Id
HAI&2Tg it fSg B fefomrad! gnrar
TIHTE IIE TS|

410

400
- 390
Q

400 —e—Marks...
395

385 /'/.7

380

410

400

400  —a—Marks...
395

385 /'/k

£ 380
2 365
S 370

£ 360 355
]

2 350
340
330

What is the percentage of marks obtained
by the student in the periodical exams of
December and February taken together?

(A)  75.5%
B) 77%
(C) 78%

(D) 73.25%

The cost of 30 flats was 60 lakh each.
A builder sold % of the flats at 15% profit

1
and p of the flats at 6% loss. If he suffers

a net loss of 10% after selling the
remaining flats, then what was his loss
percentage in the remaining flats?

(A)  14%
(B) 14.3%
(C) 28%
(D)  14.5%

A sum of money at simple interest
amounts to 9,015 in 5 years and to
10,054 in 6 years. The sum is:

(A) 33,132
(B) 3,988
(C) 3,820
(D) 3,889

390 350
% 380 /r/./
365
370
E‘sso 355 /'/
./
350

340
330

A Q:czﬂ%@‘?

ST fefenTagnft gt Y3 wai &
UEiELCikaK

(A)  75.5%

(B) 77%

(C) 78%

(D) 73.25%

30 e&<t € B113 260 BY Y &< |
fan fawssd 3 1 a852 § 15% B3 3013 -

TS § 6% ITa 3 <fn| 7 g Tt
JfJe Bl /T 3 MR I8 10% T'&!

T Y33t fdat e

(A)  14%

(B) 14.3%

(C) 28%

(D)  14.5%

g gt Furae forma 3 5 ATst &9
39,015 W3 6 A& {39 210,054 J At J|
It St gt O

(A) 3,132

(B) %3,988

(C) 3,820

(D) %3,889

13



48.  The given bar graph shows the number of f&31 fgpsT g9 d['e HaEs ¥ Yfgs & Bedi
runs scored by a team in each of the first  (oyer) fed I fg fEx 1 <& grghui

six overs of a match. i é’?ﬂ@ o é _t::' ?n

16 16

14 14

12 12

10 10

o N B o
o N B O @ ®
' L ' ' |

Over 1 Over 2 Over 3 Over 4 Over 5 Qver6 Over1 Over 2 Over 3 Over 4 Over 5 Over 6

In which over did the team score 10 runs? <tH & far §2g &g 10 &3 gT&mi?

(A) Over2 (A) Begd2
(B) Over3 (B) 8®<g3
(C) Over4 (C) Beg4
(D) Over5 (D) B®<Is

49.  Asum fetched a total simple interestof &g TagmHI 3 5 AT &g 9% Y1 7S &
5,409 at the rate of 9% p.a. in 5 years. ¥d '3 35,409 ?WWW

i 2
Whatls the sum JfenfT| Tt =1 UST |
(A) 12,325 (A) 12,325
(B) 312,020 (B) 312,020
(C)  %12,000 (C)  %12,000
(D)  %18,523 (D) 318,523
50.  Which of the following fractions is the J& feshi 3ot fed 79 3 <31 faadt 7
greatest?
6 2 20 18 6 2 20 18
7'3'21° 5 7’3’21’ 5
(n) 6 VR
7 7
B) 2 B) 2
3 3
€ 18 (c) 18
5 5
(b) 20 (D) 20
21 21
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51.

52.

If 60% of %of a number is 63, then the

number is:
(A) 125
(B) 100
(C) 150
(D) 175

The given frequency polygon represents
data obtained from a grouped frequency

distribution giving test scores of students.

The class marks are given along the
horizontal axis and the frequencies are

given along the vertical axis.

Marks obtained by students in a test out of
100

14

12
w0 \

N
/

In which class interval do the marks
obtained by the fewest number of

students lie?

(A)  60.5-70.5
(B) 59.5-69.5
(C) 54.5-74.5
(D)  60-70

ﬂaafé’aﬁfaw%%wam 633, 3189
AT U3T 4|

(A) 125
(B) 100
(C) 150
(D) 175

<31 a1t rdarg3T 9ggn, fefonraghi @
i wiq ©AT Idt fed Ayfae ardaraa
<3 3 Y3 wiafant § yedfits aa<t JI
Yyl udt % fo St aret 31

Marks obtained by students in a test out of
100

14

N
/

A3 3 e fefamadnt enrdt yu3 »ig fan
2Jd1 M3d% g Ia?

(A)  60.5-70.5
(B) 59.5-69.5
(C) 545745
(D)  60-70
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53.

54.

55.

Study the following bar graph and answer
the questions based on it.

Earnings from User Fee at Toll Plazas in India (in X Crore)
6000 e L A% BOT Projects
4937

5000

4179 3993
4000

3447

3000

1790 1825

. l B

201415 2015-16 201617

2000 1848

1000

201314

In which of the following years did the
BOT projects contribute more to the
revenue collection?

(A) 2013-14
(B) 2014-15
(C) 2015-16
(D) 2016-17

Seema bought a book and sold it to
Reema with 20% of profit. After some days
she needed that book and again bought
that book from Reema. Reema sold that
book to Seema at X396 with 10% of profit.
What is the cost price of the book?

(A) %300
(B) %400
(C) 500
(D) %600

In the 9 class of a municipal school, the
ratio of total students of section A to
section B is 6 : 11. If 40% in section A are
girls and 48% in section B are boys then
what percentage of students in both the
sections are boys?

(A)  54.8%
(B) 56.8%
(C)  45%
(D)  49%

faHaS3 13 Ire v wftils d 13 fere
WMUTd 3 YA T G349 feGl

Earnings from User Fee at Toll Plazas in India (in X Crore)
® Revenue Shared from BOT Projects

4937

6000 ¥ Revenve Collection

5000

4179 3993

4000
3447

3000

1790 1825

. l E

2014415 2015-16 201617

2000 1848

» I

' 2013-14
forafsfys fed fags At f&g BoT Yraet
S H&M fee3diads fg <Ud Wae®
ytfen?

(A) 2013-14
(B) 2014-15
(C) 2015-16
(D) 2016-17

H B B fo3ma ydid »13 20% B8 € 518
dtHr & <9 3t 99 fest gamie §A & BA
ICEL IR ERN SR eI e IS IS RACELS
Ydie BEl | GHT R 10% B3¢ 378 G fa3g
HIHT & 2396 <9 <4t fa3mg w1 ydle HE St

(A) %300
(B) %400
(C) 500
(D) %600

&JTUTS S AgS T 97 J&TH 29, Hais
A 3 HIHG B T S fefomtagd @
MEU3 6 : 11 J1 1 HATs A fe9 40%
3Tt Is W3 AIHS B fe9 48% H3 IS 3t
o<t Han! 39 fefenrad T fdd Y33
13 I&?

(A)  54.8%
(B) 56.8%
(C)  45%
(D)  49%
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Mental Ability and Logical Reasoning / HfEHS W3 %3 339 WA

56.

57.

In the question given below, there are two
statements marked as Assertion (A) and
Reason (R). Mark your answer as per the
codes in options.

Assertion (A): Kashmir is colder than
Delhi.

Reason (R): Kashmir is at a higher
altitude as compared to Delhi.

(A) Both A and R are true and R is the
correct explanation of A.

(B) Both A and R are true but R is not
the correct explanation of A.

(C) Alistrue but R is false.

(D) Aisfalse but R is true.

In this question, three statements have
been given followed by two conclusions
numbered | and Il. Assuming that all
information in the statement is true,
analyse the two conclusions together and
determine whether any of them logically
and definitely follow(s) from the
information given in the statement.

Statement I: Some angels are devils.
Statement II: No devil is demon.
Statement Ill: All demon are gods.

Conclusion:
[) All devils being gods is a possibility.
Il) Some devils are gods.

(A)  Only I follows

(B)  Only Il follows

(C) Both I and Il follows
(

D) Neither | nor Il follows

It 3 918 Y& g € qusT § ¥t (A)
3 36 (R) <4 fofg3 o3t famr 1 winu@
§39 & fequyi feg i3 431 wigATa fdfg3
Rl

TORT (A): TG, fest 3 83731
J1J& (R): arHIg, fi 8t €t 3wa fieg
frepmer Gardt €3 J1

(A) TIAWSRHAIISMIR AT ADA
fenrfmr 31

(B) TAWIRHIISUIR, A< A
fenrfmr &di I

(C) AFAJNUIRIBII

(D) AJ®3JIUIR AN II

fen yrs 9, 35 qust 3 gme & fHe
A | »13 it | €3 918 I | FE&1 f<g
T fedfont ferdae 93 w3 fodufds o9
fq Tt a4 fagzr fier qast feg o3t ardt
Acadt <t 399 Haz w3 forfes 39 3
YTE ST g J

JES |: 9 03, WG I |
JES 1I: A8 D AIS, B3 7 I
JES 1l: AQ ©3, T8 IS |

i 1) ATd A3t ® 99 I T Ao J|
Il) I¥ 3T, JE I

(A) e e I UBTT I I

(B) 9= fHe I UgTT IIeTd

(C) TWHSIMBNUSBIT e IS
(D) & 3tfieT & I USET JaeT I

17
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58.

59.

60.

61.

Find the missing term in the following
letter series:
PQ,__ ,VW,YZ

(A) ST
(B) QR
(C) RS
(D) TU

Find the missing term in the following
letter series:

CHM, , EJO, FKP
(A) DFG

(B) EIM

(C) DIN

(D) EJN

If M is the brother of the mother of the
son of N, then how is M related to N?

A)  Sister's husband

(

(B)  Wife's brother
(C) Brother

(D) Son

Study the following arrangement carefully
and answer the question given below:

‘A x B’ means ‘A is father of B’

‘A + B’ means ‘A is daughter of B’

‘A + B’ means ‘A is mother of B’

‘A — B’ means ‘A is brother of B’

In the expression A+ B — C x D, how is A
related to D?

(A)  Father's mother
(B) Sister

(C)  Mother

(D)  Father

Jot et wiyg B3t g BU3 T U3T 94:
PQ, VW, YZ

(A) ST
(B) QR

(C) RS

(D) TU

Jot o3t wiyg B3 g BU3 yr U371 94:
CHM,  EJO, FKP

(A) DFG

(B) EIM

(C) DIN

(D) EJN

AGIM, NTYSIAH T IgaTIIIMTN
&% o fgasT 97

(A ITTYH

(B) u3alw3d

C) 3Fa

(D) Y39

o3t It 39519 © forTs 1% wiftmls 99
W3 I&1 fE3 yrs w1 €39 fe6:

‘AxB T ugEJ A BT

‘A+B TWIEJ A BT T

‘A+B TWIEJ A BTEHITT

‘A—B TWIEJABTITY
foiAdA+B-Cx D9, AT D &R ot
famaT J?

(A) Uty
(B) 3T

(C) H3T

(D) fyzr

18



62.

63.

The following figure is folded to form a
cube. Which of the following pairs of
symbols will be on opposite sides?

$
@ | #|%|&
(A) #and %
(B) @and&
(C) #and=
(D) @ and%

The following figure is folded to form a
cube. Which representation of the cube in
the given option is correct one?

@
#|$|=|+
%
(A) %
# —
(B) Y%
@ |t
(&) i
+ |®
(D) @

%

J&t et wifg3t § e wie g8 Bt
N famr J1 It 3 e g At i
faga fdg wr feddt fomr f&g J<am

$
@|#|%|&
(A #M3%
(B) @M3&
(C) #nm3=
D) @"M3%
J&t fa St wifgt § e we g8 Bt

Nfor famr 31 »idh a3 fegmui fed we
faaz fague Adt 92

@
#|$|=|+
%
(A) %
# —
(B) %
@l|™*
(C) #
+ | ™
(D) @

%

19



64. SixfriendsP,Q,R,S, Tand Uwereaged g 9A3P,Q,R,S, T »3 U < §HI 2y-y
differently. Number of persons elder to Q 7 QIR fenggi A A s I 22
was thrice as that the number of persons o A _
younger to S. P was younger to S. Uwas st S Hftmr e fZa rar vt P, s 3
younger to R but elderto T. Whowas the  g2ar#t| y RIB@aTUug TI STl T
2nd eldest person? . " -

g A9 3 <31 feniadt e iz
(A) R (A) R
® T B T
€ U (€ U
(D) S (D) S

65.  Which of the following answer figure Jat fef3mt fed faadt €39 i3t yms
completes the series of the question \,,{rquf@] B3 & ydt adet I?
figure? T
x oA llle x| 2 |[x x olla |l % 2 ||+ e

A a — A A - — A

(A) ® (A) 0
A P

* *

(B) — (B) —
& A & A

* *

(C) o (C) 0
A A

* *

(D) C (D) e
| JoA

* *

20 AA



66.

67.

68.

69.

70.

Select the number that will come next in
the following series.

5,6,14,45
(A) 90
(B) 93
(C) 138
(D) 184

Select the letter that can replace the

question mark (?) in the following series.

F,.G I, L,?
(A) M
(B) N
(C) O
(D) P

Select the letter-cluster that can replace
the question mark (?) in the following
series.

YXW, VUT, ?, PON

(A) QRS
(B) SRQ
(C) RSQ
(D) QSR

Select the letter-cluster that can replace
the question mark (?) in the following
series.

DJPV, CHMR, BFJN, ?

(A) ACGI
(B) ACHJ
(C) ADGJ
(D) ADJG

Select the number that can replace the

question mark (?) in the following series.

32, 37,44, 49, 56, 61, ?

(A) 66
(B) 67
(C) 68
(D) 70

Sr At S 9T 94, 7 Jot it B3t fem
@i g () 3 nrdh
5,6,14,45

(A) 90

(B) 93

(C) 138
(D) 184
89 iyg 93 1 It ii 3t 53 e yis g
@) g & A

F,G, I, L2

o
DO ZzZ

BT »Yd-Ad B3 1 J&t et B3t e

yms fdg () S e  Aa|
YXW, VUT, 2, PON

(A) QRS

(B) SRQ

(C) RSQ

(D) QSR

B mug-AyJ g A J&t fidt st f<a

yns i () S &t & Aal
DJPV, CHMR, BFJN, ?
(A) ACGI
(B) ACHJ
(C) ADGJ
(D) ADJG

Ba Hitm g3 1 J&1 i3t B3 &9 yis

fdq (7) S B 7

32, 37, 44, 49, 56, 61, ?
(A) 66

(B) 67

(C) 68

(D) 70
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71.

72.

73.

Which number will come in place of the
question mark (?) in the given number
series?

5, 6, 10, 18, 20, ?, 40, 162

(A) 54
(B) 65
(C) 108
(D) 136

Which of the following numbers are
present in only 3 geometrical figures in
the given diagram?

(A) (39, 52)

(B) (26, 52)

(C) (24, 25, 26, 52)
(D) (25, 26, 52)

Select the answer figure that can replace

the question mark (?) in the series given
in the problem figure.

Problem Fig,.

fa3t aret At B3 &9 yrs fda (2) S g
3 faadt Attt wireatt?
5,6, 10, 18, 20, 2, 40, 162

(A) 54

(B) 65

(C) 108

(D) 136

Ja fefan fed fagdmt Hitpret i3 a8
fg3d feg fde 3 fabifcas @u-aifes)

fg3dt feg Hage I&°?

(A) (39, 52)

(B) (26, 52)

(C) (24, 25, 26, 52)

(D) (25, 26, 52)

G0 833 939 T 1 I&f fii3 mifimr fid39

ffg et s 2 yma fdg ) S & A=

Problem Fig.

s

ot

%

A 7

s

o

>z

A

A
Answer Fig.

B

C

%

>

=

%<

1

(A) 1
(B) 2
€ 3
(D) 4

2

3

4

A

B

Answer Fig.

C

D

g

i

=

%<

1

(A)
(B)
(C)
(D)

2

3

4

22




74.  Select the correct alternative which can  Hdt feqamy €t 9 ad 1 »ifq3t § yarad
complete the figure: AT |

bRk RhE

(A) B (A) B
B) C B) C
(C) D (C) D
(D) A (D) A

75.  Select an appropriate figure from the €33 wifq=t 3 e g wifgst g8 A
answer figure to fit it in the place of ? Urs 1‘@—(5 (?) R AETS 3wt

I MR

1 2 3 4 1 2 3 4

] el | AWAVAY B [ =al | AWA VA

A B C D A B C D
(A) A (A) A
B) B (B) B
(C) ¢C (C) C
(D) D (D) D

23 AA



Language Skills (Punjabi/ English) / 3Tt ©® g&d (UATst/ »ard+l)

76.

77.

78.

79.

80.

Identify the segment in the sentence which contains a grammatical error.
| do not / agree to / you in / this matter.

(A) ldonot
(B) agreeto
(C) youin

(D)  this matter.

Select the most appropriate SYNONYM of the given word.
BLARE

(A)  Hinder
(B) Ponder
(C) Plead
(D) Scream

Select the most appropriate ANTONYM of the given word.
REPEL

(A)  Attract

(B) Magnet

(C)  Substituent
(D)  Sharp

Given below is a sentence that is jumbled. Select the option that shows the correct

order of the fragments to form a meaningful sentence.
P. see that woman
Q. along the street

R. I often

S. walking
(A) PQRS
(B) RSRQ
(C) RQPS
(D) RPSQ

TI3 TIE T A Mg vigew J|

(A) Help
(B) Relief
(C) Relive
(D) Rescue

24




English Passage

Read the following passage carefully and answer the given questions from Q 81
to Q 85.

Super-30 is a philanthropic mission for the upliftment of talented students from
underprivileged community and the moving sprit behind the initiative is Anand Kumar,
a mathematician. He has, through his initiative, ushered in a silent reawakening in
Bihar, having produced lITians out of the students from the underprivileged sections of
the society. In less than seven years, 187 students — right from the son of a sweeper,
rickshaw-puller and landless laborer to the progeny of a security guard or green-grocer
— have made it to India’s prime institutions. The initiative was named Super-30 because
it started with a short-listing of 30 poor but talented students. All of them were super in
talent, says Anand. Initially, making arrangement for 30 students was not an easy job,
but Anand’s family extended all help in his endeavor.

Anand generated finances by tutoring students of other schools while his mother,
Jayanti Devi, cooked food for the students. For the students, there was only one goal —
to study hard. What followed was rigorous training of the students and the results came
as a big surprise in the very first year.

It motivated Anand to put in more efforts along with his team of dedicated teachers. In
the last seven years, 182 students have made it to different lITs in the country.

In 2003, when Super-30 started its journey, 18 out of 30 students has cracked JEE. The
very next year, the number jumped to 22. In 2005, it improved further to 26. Continuing
the trend, 28 students made it in 2006 and 2007. The magic moment came in 2008
when the result was an astonishing 30 out of 30. Super-30 had hit the bull’s eye. It was
a dream comes true for Anand and his team. Super-30 had done it again in 2009. It had
been 30 out of 30 for the second year in succession. Anand says that the thrust would
be on developing inquisitiveness — so very important for science and mathematics
education. From 2010 onwards, he has decided to increase the intake from the existing
30 to 60 students. Poor students from other states would also get an opportunity to be
a part of the program.

The genesis of Super-30 has a lot to do with the hardship that Anand had to face when
he was still a student. After the demise of his father, a postal employee, he got the offer
for a clerical job on compassionate grounds, but he refused it. He wanted to continue
his studies but faced heavy odds. Later, his mother started making papads, called
‘Anand papads’, and other home-made products, which Anand sold from house to
house. As days rolled by, some started calling him papadwala ladka. But, for Anand, it
was just a passing phase. He worked hard to make a living and in his spare time,
studied mathematics. The struggle gave him an opportunity to feel the pains of likes of
him. It was an urge from within that led to the birth of ‘Ramanujan School of
Mathematics and Super-30’.

25 AA



81.

82.

83.

84.

85.

86.

Students from which state were selected by Anand Kumar?
(A)  Uttar Pradesh

(B) Madhya Pradesh
(C) Bihar
(D) Odisha

How many students have made it to different lITs in the country in the last seven
years?

(A) 250
(B) 195
(C) 267
(D) 182

What led to the surprising result in the first year?

(A)  Huge financial support
(B) Immense opportunities
(C) Rigorous training

(D)  Struggle for survival

Choose the correct synonym of ‘Genesis’.

(A)  Movement
(B)  Beginning
(C)  Functioning
(D) Possibility

Why did Anand decide against choosing a clerical job?

(A) He wanted to establish a school.

(B) He wanted to go to Cambridge University.
(C) He wanted to continue his studies.

(D) He wanted to help the poor.

J& Tt {39 Hu wee 9|

(A)  HZd

(B) Hfgx

(C) HfZd

(D) Wifsx
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87.

88.

89.

90.

(A) gt

(B) gt

(C) gt

(D) 3t

"SI giet HIERT HJ™ed T Wd8 AR |
(A) &3 Ediet

(B) &3t g fHsd

(C) wufHma

(D) &g

Y &% 931 I, BE foq mee g

(A) At

(B) yxHist

(C) J3dit

(D) st

‘Ram and Sham both are happy’ @H?ﬂ?ﬁﬁ?ﬂﬂ”@?ﬁl
A)  THMIAH TR YA JI

(A)

(B) THMITHT YA IS
(C)  THM3 TH TR Yo I
(D)  THMI TH T YyH A

Passage Punjabi

Jsifa3 TeB dfors s uI M3 Yy 913y 95 3a e €33 fe6

iy g <t 936 yduaT feg It W31 3 8<3 < 1 © fenm mETs J1 Jfe 3 Haft3 ©
g fegt gardui & 7a1s arfedt 919 9dat fed Yers 93t fegi enrar 9fg3 Irast <
<19 (feat &t 219) =1 91g gy H I1d Afas t feg wdq I feg fegt & »mu@ 2« feg yara3
"3 Jg w3 feg Bt T 639 Was © Y3y yre J | fon @9 © Infes fogt gardhit &
JfPuret © 38 AN 91 wdis ©< il © TJ9d feg di3T1 I19-113 < 837 w3 I T <Y
Jd-gut feg yseE <3t wiftwmaHa IHd § fer <rg feg yr33 o3t fam 31 91d »igas
< 1l 378 AT fEqi ¥ 'gad €T HE HI w13 gufie 91g ©rdt Ha™e e < fegi 2 gn
HE 3 Id WIS B 1t S AYJ THY Har31 § 98 1 36 9da &t 7 YA gy feg fast
W3 g € HI MTBT &18 (FUH 7S &7%) 'HIUT 3 'I&d' Y A3 ©t did3s yduar feg
J9 <Yy gu feg ydre gu feg Jfemm

27 AA



91.

92.

93.

94.

95.

J5 fod U9 w1 gaet sy ;

(A) gg

(B) dJidude A

(C) IElHIT3 g%

(D) <9 IHIS

H3T 3 g%<3 ©f e 21 gy Hil
(A) w3 dta3s

(B)  HdM dIrfes

(C) WA HAl3

(D)  HJ1S qrfest

J1d Jj8 mifag feg W31 3 §8<s <t Ife3 faadt J9a1 92

(A)
(B)
(C)
(D)

HA & <g
IHIS! &t <19
gH3 ot T1d

ASS 3 Ayt

A 98<3 a3 e o fem <t 2

(A)
(B)
(C)
(D)

GIECEAS RCEY
2Y-2Y gig gui feg Urardt

MIPHTSIHA THfpr
GISLIERSRICIS)

J1d W feg H31 3 983 T ol T H 2

(A)
(B)
(C)
(D)

TTH <181

HIU 3 J&JSTET

TIId BTG T

JREE =T
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Digital Literacy and Awareness / f3#le® Aya3™ W3 Aarga3

96.

97.

98.

99.

100.

Which of the following combination is NOT  fegi fed faazr mns Adt & 92

correct?

|. Batch operation system — Second

generation

[I. Time sharing operating system — Third

generation

(A)  Onlyl

(B) Onlyll

(C) Bothlandll
(D)  Neither | nor li

What type of an input does the speech
recognition device takes?

(A)  Audio
(B) Video
(C) Text

(D) Image

In MS Word 2019, while using wild cards
in search how many characters does ‘?’
lets you to use?

(A) 3
(B) 1
(C) 2
(D) 4

In MS PowerPoint 2019, which shortcut
key is used to create new presentation?

(A) Ctrl+N
(B) Ctrl+J
(C) Ctrl+A
(D) Ctrl+M

Netscape Navigator is a

(A)  browser
(B) e-mail

(C) URL
(D)  network

|. 99 QuIfdar fmen - grt Wit

|I. TTTEH AIgT Jd6 <& Qudfedt fimeH -
EGIRYE]

(A)  fHISI

(B) fHI=II

C) Inw3NT

(D) &3 IEGN

i ygTe f3efen fan 39t o foaye 3«
I

(A) 3G

(B) <IEI8

C) fou3

(D) fd3d

MS Word 2019 feg, Add feg =fes3
J1d3 Tl <93 I AN, 7' 3T fdd »iydt
<1 293 9d& fdar 7

(A) 3

B) 1

(C) 2

(D) 4

MS PowerPoint 2019 24, ?ﬁﬁm
f3nig 995 Se faadt macde-of €t <3
3 At I?

(A) Ctrl+N

(B) Ctrl+J

(C) Ctrl+A

(D) Ctrl+M

STHIY B2lged (Netscape Navigator)

i JI

(A)  gBrd
(B) €Nm
(C) URL
(D) &a<dd
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Read the following instructions carefully:

J& Ta7 geest § s 53 ug:

1. Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can

not be changed.

2. The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

3. The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as
these are printed on Test Booklet.

4. Candidate needs to show his / her Admit Card whenever
it is demanded by the Invigilator.

5. Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigilator or
Center Superintendent.

6. The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over

OMR Answer Sheet to the Invigilator.

7. Use of Pencil/Electronic/Manual Calculator is prohibited.

8. The candidates are governed by all Rules and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

9. Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

10. The Candidates are required to submit the Test

Booklet to the Invigilator after the exam.

11. Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

10.

11.

939 fic 3 B T35 unrfee Us &5 A= fEx feasu § €39
= T F9o I fEa =9 fdpa A3 I €39 § sefowr &t
7 A

Sifeeg’ § fog wetsl g=@= vder 3 fa €39 die i@t &
R Gfiese § €37 Hie 3 feus-8ua Id & foms adi
sIrgE Taerl  Gffeee § G €39 Hie g
foguras Aqf 3 fomrer I fa3 & wuer I S99 &4l faue
gdter]

2Ac Had< Aldi fgue J=at 7 SAc gad<e 3 =1 38 Is1

fsargs garar Hat AT 3 Sieeg § wuT THET F9F
fewg@e J2ari

faags & dTg @ Auade I ferA wigmr 32 fasi, ad &
Srifeeg wuF Menfifinr T3 &di £3 AaTTHEE |

SieTg § wuFt TS Hie 3 gE3HT J13 fast w3 €39 fie
363 fouras § A fias® iftmr o8 3 599 7 & wrfomr
&t 31
Aafrsfedadfcantaws Isadea € <93 396 & Hadt 31

fifimr g% f9 @9&* © wode @ Adn R9 Giee9 Ay
YfgH 3931 993 © A famd w3 fefsmi wilts J=at | wgfas
<91 @ 7S wHfewt § 3931 593 © fomnr w3 fefamit wigAg
fauerfanr Aar|

e w3 I= 3 =i, Gt wrudt 6hirg €39 e
¥eT €e39 ©f at fasgrgs § Truw ader/adet| feees <8
Srifees € Guhinrg anit fiuse 3 gme & Srileeg ifimr
TB &3 Ade 3|

i 3 mmre Giffeest § iRt e Hade fagars a8 my
JIGE IS |

fusst fiftmr fiige @ yaHs J= 3 24 uifew’ @ wiegrieg
Jar|

Note: English Language will prevail if there is any discrepancy in instructions for Punjabi Language.

&< A9g UAsh I S gerfest fog aut @ wizg uftwr Jier d 37 widaHl I o oerfes yHed Jedfl
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